

WIRE & CABLE CONNECTORS & 1788 Northpointe Road

HARNESS MANAGEMENT PRODUCTS VALUE-ADDED

SERVICES

Columbia, TN 38401 (800) 635-5342 615-791-0281 Fax: (615) 791-6182 Ouote

2460654 Quote

11973

03/30/2021 Date

Customer Contact Faiz Fahmi Salesperson Jeremy Slaughter

Quoted For: GALAXY AEROSPACE (M) SDN BHD SULTAN ABDUL AZIZ SHAH AIRPORT

SUBANG, SELANGOR, 47200

Malaysia

Bill To:

GALAXY AEROSPACE (M) SDN BHD MALAYSIA INTL. AEROSPACE CENTRE SULTAN ABDUL AZIZ SHAH AIRPORT HELICOPTER CENTRE, SUITE 11-14 SUBANG, SELANGOR, 47200 Malaysia

Quote Good Through 04/29/2021

Ship Via FOB DHL INTL EXP C		Freight Terms SP			Customer Quote Number RFQ 29/03/2021 HOM ILS - Avionic	
Line	Item		Ordered	Price	Extension	
1	WM85049/38-11W M85049/38-11W Your Item MS85049/38-11W LT 1-2 WKS		3 EA	13.00000 EA Non-Cancelable	39.00 , Non-Returnable	
2	WMD38999/26WB35PN D38999/26WB35PN LT 5-6 WKS		2 EA	22.53000 EA Non-Cancelable	45.06 , Non-Returnable	
3	WMMS24524-23 MS24524-23 2TL1-3 LT 1-2 WKS		2 EA	33.68000 EA Non-Cancelable	67.36 , Non-Returnable	
4	WM1550C LT 1-2 WKS		1 EA	17.66000 EA Non-Cancelable	17.66 , Non-Returnable	
5	WM85049/38-19W M85049/38-19W LT 1-2 WKS		1 EA	11.30909 EA Non-Cancelable	11.31 , Non-Returnable	
6	WM85049/52-1-10W M85049/52-1-10W LT 1-2 WKS		1 EA	9.02000 EA Non-Cancelable	9.02 , Non-Returnable	
7	WMMS3456W10SL-4P MS3456W10SL-4P LT 2-3 WKS		1 EA	37.17000 EA Non-Cancelable	37.17 , Non-Returnable	

Terms and Conditions of Sale

WireMasters Terms and Conditions of Sale can be found at www.wiremasters.net and are also available upon request. You may access and review this information via our website by clicking on 'Resources' and then 'Terms and Conditions of Sale'. WireMasters Terms and Conditions of Sale shall govern the entire contract between the parties. Failure to review our terms and conditions of sale is not considered a waiver of the provisions contained therein. This quote is expressly limited to acceptance of WireMasters Terms and Conditions. Acceptance of this offer in any manner shall act as acceptance of the Terms and Conditions.



WIRE & CABLE CONNECTORS & 1788 Northpointe Road

HARNESS MANAGEMENT PRODUCTS VALUE-ADDED

SERVICES

Columbia, TN 38401 (800) 635-5342 615-791-0281 Fax: (615) 791-6182 Quote

2460654 Quote

03/30/2021 Date

Customer	11973
Contact	Faiz Fahmi
Salesperson	Jeremy Slaughter

Line	Item	Ordered	Price	Extension
8	WMD38999/26WF35SN D38999/26WF35SN LT 2-3 WKS	1 EA	36.25000 EA Non-Cancelable,	36.25 Non-Returnable
	LI 2-3 WK3			
9	WM1590PPBK	1 EA	32.68000 EA Non-Cancelable,	32.68 Non-Returnable
	LT 1-2 WKS			
10	WMD38999/26WA35PN D38999/26WA35PN LT 4-5 WKS	1 EA	26.48000 EA Non-Cancelable,	26.48 Non-Returnable
11	WM85049/38-9W M85049/38-9W STOCK	1 EA	4.92000 EA Non-Cancelable,	4.92 Non-Returnable
12	WMMS24523-27 MS24523-27 1TL1-7 LT 1-2 WKS	1 EA	29.97000 EA Non-Cancelable,	29.97 Non-Returnable
13	WMD38999/26WB35SN D38999/26WB35SN 4 WKS	1 EA	27.15000 EA Non-Cancelable,	27.15 Non-Returnable
15	WMDB37P	1 EA	15.04000 EA Non-Cancelable,	15.04 Non-Returnable
	LT 3 WKS			
16	WM382A012-25-0 382A012-25-0 LT 1-2 WKS	6 EA	21.88000 EA 131.28 Non-Cancelable, Non-Returnable	
17	WMHSDR-25-3/4-0-SP DR-25-3/4-0-SP STOCK	120 FT	3.83000 FT	459.60
18	WMHSDR-25-1/2-0-SP DR-25-1/2-0-SP STOCK	120 FT	2.63000 FT	315.60

Terms and Conditions of Sale

WireMasters Terms and Conditions of Sale can be found at www.wiremasters.net and are also available upon request. You may access and review this information via our website by clicking on 'Resources' and then 'Terms and Conditions of Sale'. WireMasters Terms and Conditions of Sale shall govern the entire contract between the parties. Failure to review our terms and conditions of sale is not considered a waiver of the provisions contained therein. This quote is expressly limited to acceptance of WireMasters Terms and Conditions. Acceptance of this offer in any manner shall act as acceptance of the Terms and Conditions.



CONNECTORS & ACCESSORIES 1788 Northpointe Road Columbia, TN 38401

HARNESS MANAGEMENT PRODUCTS VALUE-ADDED

SERVICES

Columbia, TN 38401 (800) 635-5342 615-791-0281 Fax: (615) 791-6182 Quote

Date

03/30/2021

Quote 2460654 Customer 11973

Contact

11973 Faiz Fahmi

Salesperson Jeremy Slaughter

...is on our shelves.®

Line	Item	Ordered	Price	Extension
19	WMHSDR-25-1/4-0-SP DR-25-1/4-0-SP STOCK	120 FT	2.18000 FT	261.60
20	WMTG-201T14 M27500-20TG1T14 STOCK	300 FT	0.22000 FT	66.00
21	WMTG-221T14 M27500-22TG1T14 Your Item M27500-22TG1T14 STOCK	300 FT	0.25000 FT	75.00
22	WMTG-202T14 M27500-20TG2T14 STOCK	350 FT	0.51000 FT	178.50
23	WMTG-222T14 M27500-22TG2T14 Your Item M27500-22TG2T14 STOCK	350 FT	0.43000 FT	150.50
24	WM22759/16-22-9 M22759/16-22-9 Your Item M22759/16-22-9 STOCK	200 FT	0.08500 FT	17.00
25	WM22759/16-20-9 M22759/16-20-9 Your Item M22759/16-20-9 STOCK	200 FT	0.12000 FT	24.00
			Product	
		_	Гах	0.00
		1	Гotal	2,078.15

WireMasters now offers in-stock and stock-to-build Mil-Spec connectors and harness management products including braid, cable ties, markers, molded shapes, sleeving, tapes, tubing, and more! Ask your WireMasters contact about sourcing every component for your harness.

All stock is subject to prior sale. Lead times are based on current availability and are subject-to-change. Terms and Conditions of Sale

WireMasters Terms and Conditions of Sale can be found at www.wiremasters.net and are also available upon request. You may access and review this information via our website by clicking on 'Resources' and then 'Terms and Conditions of Sale'. WireMasters Terms and Conditions of Sale shall govern the entire contract between the parties. Failure to review our terms and conditions of sale is not considered a waiver of the provisions contained therein. This quote is expressly limited to acceptance of WireMasters Terms and Conditions. Acceptance of this offer in any manner shall act as acceptance of the Terms and Conditions.



WIRE & CABLE CONNECTORS & ACCESSORIES HARNESS

MANAGEMENT **PRODUCTS**

VALUE-ADDED SERVICES

1788 Northpointe Road Columbia, TN 38401 (800) 635-5342 615-791-0281 Fax: (615) 791-6182

Date

03/30/2021

2460654 Quote

Salesperson Jeremy Slaughter

11973 Customer Faiz Fahmi Contact

Line Item **Ordered Price** Extension

Unless otherwise stated in writing, all quotes are subject to tolerances of +/- 10% and all lengths are provided to the Mil-Spec. A \$50 minimum applies to all orders.

We are dedicated to your satisfaction, so please contact us with any questions

Compliance with all U.S. government regulations related to the use, possible transfer, re-sale or export of this product(s) is the responsibility of the purchasing party. The purchasing party must determine if the material(s) in question is controlled and/or restricted by U.S. government regulations. If the item(s) is U.S. government controlled material(s), it is authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. It may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in the original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Terms and Conditions of Sale

WireMasters Terms and Conditions of Sale can be found at www.wiremasters.net and are also available upon request. You may access and review this information via our website by clicking on 'Resources' and then 'Terms and Conditions of Sale'. WireMasters Terms and Conditions of Sale shall govern the entire contract between the parties. Failure to review our terms and conditions of sale is not considered a waiver of the provisions contained therein. This quote is expressly limited to acceptance of WireMasters Terms and Conditions. Acceptance of this offer in any manner shall act as acceptance of the Terms and Conditions.